1. Marks scored by Sanya in English and Math together is
what percent of the Marks scored by Aditya and Nidhi in
English together?

ST 3R Tifura o TaeTeRt Tfsram gRT ure 3iek, iU ® enfaer iR
freft g fireTTent WTet 3teR Rt femaT wferora &2

Subjects English Hindi Science Maths
Students
Parul 65 60 80 65
Aditya 75 75 60 75
Nidhi 85 55 95 85
Sanya 60 60 65 60

(a) 25% (b) 50%

(c) 75% (d) 100%

(e) 125%




2. Total marks scored by Parul are how much more/less than
total marks scored by Nidhi?

A I T el 3ieh, el g1 U et 3feh © ToharT aferen /v 22

Subjects English Hindi Science Maths
Students
Parul 65 60 80 65
Aditya 75 75 60 75
Nidhi 85 55 95 85
Sanya 60 60 65 60

(a) 70 (b) 60

(c) 40 (d) 50

(e) 80




3. Find the ratio of total marks scored by all four students
together in Hindi to total marks scored by all four students
together in Science?

&<t o |t = faenfelan g fHetTent UTe shet 3iehi oAl fae o |t o)
ferenfelat grT freTreRt YT et 3fehl | T A1 it |

Subjects English Hindi Science Maths
Students
Parul 65 60 80 65
Aditya 75 75 60 75
Nidhi 85 55 95 85
Sanya 60 60 65 60
(a)5:6 (b) 57 : 50
(e)1:1 (d)20:19

(e)6:5




. Total items purchased on Thursday and Friday together of

store Reliance store is what percentage of total items
purchased on Wednesday and Thursday together of store
Vishal Store?
TR e € @t geefaan 3T Jewan & e Tlid 18 Fd
T, TR faone ©R &t gIar 3R gemfaan & faament el 7

et TGl AT TehaT wferora 82
Days Reliance Store Vishal Store
Total Items | % of Items | Total Items | % of items
purchased by purchased by
Females Females

Monday 230 30% 320 30%
Tuesday 280 45% 440 65%
Wednesday 335 40% 270 80%
Thursday 360 60% 380 25%
Friday 420 65% 275 40%

(a) 125% (b) 120%

(c) 140% (d) 100%

(e) 80%




Items purchased by females from store Reliance Store on

Wednesday and Thursday together is how much percent
more/less than the total items purchased by males from
store Vishal Store on Thursday and Friday together?
FUar iR ggEfaar st fareret @R fere 8R | afgeren grr
@l TE Ty, FEaar T YEhar s it BR faome @R 4
T GRT T TS et el  fararr wfora srferes o w2

Days

Reliance Store

Vishal Store

purchased by
Females

Total Items | % of Items | Total Items

% of items
purchased by
Females

Monday

230 30%

320

30%

Tuesday

280 45%

440

65%

Wednesday

335 40%

270

80%

Thursday

360 60%

380

25%

Friday

420 65%

275

40%

(a) 20%
(c) 16(2/3)%
(e) 25%

(b) 22(2/9)%
(d) 14(2/7)%




3. If total items purchased from store Reliance Store and
Vishal Store on Saturday are 20% more and 30% more
respectively than the total items sold by Reliance store and
Vishal Store on Wednesday, then find the total number of
items purchased from Reliance Store and Vishal Store
together on Saturday?

Tfg viivam i TR fems € it ©R fana € | elid w8 g
T, FIAR ol RATHH © AR fa9mer R gRT it 718 et aegeil st
T | THAIT: 20% 3R 30% ek §, A IR st Reamsa =R i
faeTer R ® faeteRt @l T aegeil st et G&AT AT Shitau|

Days Reliance Store Vishal Store
Total Items | % of Items | Total Items | % of items
purchased by purchased by
Females Females

Monday 230 30% 320 30%
Tuesday 280 45% 440 65%
Wednesday 335 40% 270 80%
Thursday 360 60% 380 25%
Friday 420 65% 275 40%

(a) 828 (b) 753

(c) 783 (d) 807

(e) 823




1. In 2020, If the number of female qualified candidates was
176, what was the respective ratio of number of male
qualified candidates and number of female qualified
candidates?

9 2020 ¥ Tfg ST & ATl WigeT SWICARI eht G&T 176 of, o
30T B AT JEW SHiiCarl sl e R Sl @ arett Afgen

TGN aht WEAT ST STTUTA Teha =T &2
Years No. of % of appeared | Respective ratio of number of
appeared |candidates who | qualified male and number of
candidates qualified qualified female candidates
2016 700 — 3:2
2017 — — 5:3
2018 480 60% —
2019 — 42% 9:5
2020 900 64% —
(a)25:16 (b)5:4
(¢)25:11 (d)21:16

(e)17:11




2. The number of appeared candidates increased by 40% from
2016 to 2021. If 25% of the appeared candidates qualified in
2021, what was the number of qualified candidates in 2021?
T 2016 | 2021 T UHET W S5 Gt SEHIGARI shi W& W 40 Ui
gl g3 afe a6 2021 W wliel ® S a1et 25 Yia9Td SWiEaR STIul &l
g, @ ad 2021 o STl g 9Tl SEGERT sl W& fehast &7

Years No. of % of appeared | Respective ratio of number of
appeared |candidates who | qualified male and number of
candidates qualified qualified female candidates
2016 700 — 3:2
2017 — — 5:3
2018 480 60% —
2019 — 42% 9:5
2020 900 64% —
(a) 240 (b) 225
(c) 255 (d) 245

(e) 230




3. In 2017, the respective ratio of number of appeared

candidates to the qualified candidates was 5 : 4. Number of
female qualified candidates constitutes what per cent of
number of appeared candidates in the same year?
Td 2017 U Udtem W S+ aret faentei=n s udien o Il g anet
forenfofat & 3 uTa 5 : 4 &) A TS W STIU & aTell WigeT SHgai
I HTEHT THT a9 U § S8 aTel SFIQaR) st WA &Rl fehd T UiaoTd
&2

Years No. of % of appeared | Respective ratio of number of
appeared |candidates who | qualified male and number of
candidates qualified qualified female candidates
2016 700 — 3:2
2017 — — 5:3
2018 480 60% —
2019 — 42% 9:5
2020 900 64% —
(a) 20 (b) 25
(c) 30 (d) 15

(e) 40




4. In 2019, if the difference between number of male qualified
candidates and female qualified candidates was 72, what
was the number of appeared candidates in 2019?

o 2019 T STUT TN 9T TEET ki HEAT AR 70 B aret Afgen
IHEERI aht HEAT o Hed AT 3aT 72 o, af 96 2019 T Udhem ¥ s
T SHEARI sht AT TehasT oft?

Years No. of % of appeared | Respective ratio of number of
appeared |candidates who | qualified male and number of
candidates qualified qualified female candidates
2016 700 — 3:2
2017 — — 5:3
2018 480 60% —
2019 — 42% 9:5
2020 900 64% —
(a) 800 (b) 900
(c) 850 (d) 600

(e) 950




Given Radar Graph shows the number of students (in class
XTII) studying in 6 different schools (A, B, C, D, E & F) and
percentage of students who failed out of total students of
these schools. Note : In the further questions for a given
school only the data for class XIIth is to be considered.
fea 791 TSR UTH 6 3TET-37e T @hel (A, B, C, D, E, and F) W UgA
T BT hl TEAT (TEST hell | ) fe@men € i 37 @hell o et Sl
9 e 0% AT BT T T $1 9 ;3 3w el fog T
WheT oh oI chaet ShatT 12 o ok 3tishgl W foemR femam ST €1

School A

0

R e —
School E b e N S 0 School C

(in thousands) —% of students who failed
—Total Students in Class XII in Xllth Board




. The average number of students studying in School B & F
are what percent of students who failed from school A & E?
T B U F T g dTe! B shi 3T @& et A & E @ el 8
T BT T feha=T UfaeTa &2

School Total Failed

A 50000 10%
B 45000 30%
C 70000 25%
D 30000 20%
E 40000 25%
F 75000 40%

(a) 370 (b) 400

(c) 420 (d) 460

(e) None of these




2. Find average number of students who passed in School, D,
E & F.
et D, E, & F T 3l St st i 9 Ara i)

School Total Failed

A 50000 10%
B 45000 30%
C 70000 25%
D 30000 20%
E 40000 25%
F 75000 40%

(a) 26000 (b) 32000

(c) 33000 (d) 34000

(e) None of these




Students studying in School-C & D together are how much
more or less than students studying in School-A & E
together?

@A-C & D W UG ATt BT, The1-A & E H UG aret ST aht gor T |
fereT s u o e 872

School Total Failed

A 50000 10%
B 45000 30%
C 70000 25%
D 30000 20%
E 40000 25%
F 75000 40%

(a) 12000 (b) 11000

(c) 10000 (d) 9000

(e) None of these




If in school B each students who passed borrowed 10 books
from the library and each student who failed borrowed an
average of 4 books from the library, then find the ratio of
total books borrowed by each passed student to failed
student.

Tfe Whet B W, Uik BT ST 30T 2, I TERA § 10 Tih 38X
o € IR U B S FEHA @, I0T Teehierd | 3iaaT 4 T&ioh
YR &, TRt Tedieh SUl BT 3R 3Mhe BT NI 3R &t TE el
Y&ehl AT 3TTUTA ATA il

School Total Failed

A 50000 10%
B 45000 30%
C 70000 25%
D 30000 20%
E 40000 25%
F 75000 40%

(a)32:7 (b) 35:6

(c)33:8 (d) 36 :13

(e) None of these




1. If number of exams appeared by Veena is 20% more than
that of Heena appeared, then find percentage of exam
cleared by Veena?
gfg aiHT o ST B9 aTeit UteITan skl W, AT o Sufeerd g aret
THLATT Rt HEAT H 20% 3TFereh T, 9 =T gRT S0t g earedt ht g9t
T it

Candidates Number of Bank PO Number of exams
preliminary exams appeared Cleared
Amit 24 —
Veena — 12
Heena 35 —
Ajay 48 18
Sandeep — 20
Sanya 18 —
4 4
(a) 28?% (b) 22?%
4 4
(c) 187% (d) 16?%

(e) 10%




2. If percentage of exams cleared by Amit is 41(2/3)%, then
find exams which Amit did not clear are what percent of
total exams in which Heena appeared?

Tfe ST gRT STHIUT URTeTTsti st WfavTd 41(2/3)% €, A AT shifeTg 3TrHa
BT STAI0T URITE T o SUTERId 81 aTell Uit oht feha=T TfavTd
8

Candidates Number of Bank PO Number of exams
preliminary exams appeared Cleared
Amit 24 —
Veena — 12
Heena 35 —
Ajay 48 18
Sandeep — 20
Sanya 18 —
(a) 35% (b) 44%
(c) 48% (d) 40%

(e) 50%




3. If number of exams in which Sandeep appeared is equal to
12 more than average number of exams in which Amit &
Ajay appeared, then find ratio of exams which Sandeep did
not clear to exams which Ajay did not clear?

Tfg Tigmen i Gea fed g€ Sufterd ga, 3ifua 3iv o ™ &
Sufkera g arelt udtereit st e e | 12 Sifes ¢, @ 99T gy
STTTIOT TLTEITST TR TSI FRT STTTITT TSI | TTUTA A il

Candidates Number of Bank PO Number of exams
preliminary exams appeared Cleared
Amit 24 —
Veena — 12
Heena 35 —
Ajay 48 18
Sandeep — 20
Sanya 18 —
(a) 14 : 17 (b) 14 : 15
(¢)13:15 d)3:5

(e)4:5




4. Total number of exams in which Sandeep appeared is 10%
more than that of Veena appeared. If Sandeep appeared in
four less exams than Ajay, then find number of exams,
which Veena did not clear?
et TeTTS ST TaeT SUferd g3, AT oh SUTeerd &I areil uxrgiett
Tt G T 10% 3TFereh § 1 e TeiT 3T il gt § oI ol UreTreti o
IUTERI g3, A 37 NI Tl WEAT AT ShitaT, R0 aiar 3ol et
gat?

Candidates Number of Bank PO Number of exams
preliminary exams appeared Cleared
Amit 24 —
Veena — 12
Heena 35 —
Ajay 48 18
Sandeep — 20
Sanya 18 —
(a) 24 (b) 32
(c) 36 (d) 44

(e) 28




. Total number of exams in which Sandeep appeared is
37.5% more than that of Amit appeared, while total number
of exams in which Veena appeared is 20% more than that of
Heena appeared. If Sanya cleared 50% of appeared exams,
than find exams cleared by Sanya is what percent of total
exams in which all six appeared?

TIEIY o U & ATelt URISTSr hi Shel WEAT, (U oh IUTerd g
ST THIT et Thel W& | 37.5% T(eh §, Tafeh Udemai st et
HEAT FaH ST SUfRerd g3, €T oh SUfeerd g arelt udiemsi sl et
HEAT | 20% 3 &1 afe grisar sufkerd g ot aiersil &1 50%
ITUT SHIAT &, A AT GRT S0 UelTd |t 9% o Sufeerd g areit
et TieTatt et feRar ufaeTa €7

Candidates Number of Bank PO Number of exams
preliminary exams appeared Cleared
Amit 24 —
Veena — 12
Heena 35 —
Ajay 48 18
Sandeep — 20
Sanya 18 —
(a) 3.5% (b) 4.5%
(c) 2.5% (d) 1.5%

(e) 5%




Direction (1-3) : Read the given below table carefully to
answer the following questions.

Table gives information of panchayat elections held in five
villages (A, B, C, D and E)

frfefiaa got & S 3 & forg o &t 8 |l w1 sagdes
ITEIIT HITATI

Rl gier et # g demad AT sht SHeRtt oot € (A, B, C, D 3R

E)l
Note : 1. Percentage of votes polled = Total Votes Polled x 100

Total availabel voters
Total Valid Votes y
Total votes polled

2. Percentage of Valid votes = 100

Village | Total available |Votes polled (in %)| Valid votes (in %)
votes (in'000)

P 50 70 80
Q 40 75 60
R 75 80 75
S 100 75 72
T 80 90 70




. Find the approximate difference between average of valid
votes of village Q and T and average of total votes polled in
village P, Q and S.

e Q 3R T o I Al o 3T 3TN 7T P, Q AT S T ST T et Wl
o 3T o WA TR 3 AT Sifeu|

Village | Total available |Votes polled (in %)| Valid votes (in %)
votes (in'000)
P 50 70 80
Q 40 75 60
R 75 80 75
S 100 75 72
T 80 90 70
(a) 13000 (b) 12900
(c) 12600 (d) 12500

(e) 12800




. Invalid votes of village Q & R together is what percent of
total votes polled in village R & T together?
T Q AT R o THETERT 374l Wa, T R e T' | fHeTeht STt T et
Tdl o Tehea gfeora &2

Village | Total available |Votes polled (in %)| Valid votes (in %)
votes (in'000)

P 50 70 80
Q 40 75 60
R 75 80 75
S 100 75 72
T 80 90 70
(2)20->9% b 245 9

11 11

3 5
(c)2lﬁ% (d) 19ﬁ%

3
9233 ¢
(€)2377%




3. Find the ratio of invalid votes of village P to that of village
S.
T P T IE S W A Hedl AT STTUTT ATH hitTg|

Village Total available [Votes polled (in %) |Valid votes (in %)
votes (in '000)
P 50 70 80
Q 40 75 60
R 75 80 75
S 100 75 72
T 80 90 70
(a)3:5 (b)1:3
()6:7 (d)4:5

(e) None




